Ann. Funct. Anal. 8 (2017), no. 4, 512-519
http://dx.doi.org/10.1215/20088752-2017-0015
ISSN: 2008-8752 (electronic)
http://projecteuclid.org/afa

# A QUANTITATIVE VERSION OF THE JOHNSON-ROSENTHAL THEOREM 

DONGYANG CHEN*

Communicated by D. Leung
Abstract. Let $X, Y$ be Banach spaces. We define

$$
\alpha_{Y}(X)=\sup \left\{\left|T^{-1}\right|^{-1}: T: Y \rightarrow X \text { is an isomorphism with }|T| \leq 1\right\}
$$

If there is no isomorphism from $Y$ to $X$, we set $\alpha_{Y}(X)=0$, and $\gamma_{Y}(X)=\sup \{\delta(T): T: X \rightarrow Y$ is a surjective operator with $|T| \leq 1\}$,
where $\delta(T)=\sup \left\{\delta>0: \delta B_{Y} \subseteq T B_{X}\right\}$. If there is no surjective operator from $X$ onto $Y$, we set $\gamma_{Y}(X)=0$. We prove that for a separable space $X$, $\alpha_{l_{1}}\left(X^{*}\right)=\gamma_{c_{0}}(X)$ and $\alpha_{L_{1}}\left(X^{*}\right)=\gamma_{C(\Delta)}(X)=\gamma_{C[0,1]}(X)$.

## 1. InTRODUCTION AND PRELIMINARIES

This note is motivated by much of the recent research on quantitative versions of various theorems and properties of Banach spaces (see [7] and its references). Our main goal in this note is to prove quantitative versions of two well-known theorems in the isomorphic theory of Banach spaces: the Johnson-Rosenthal theorem and the Bessaga-Pełczyński theorem. The Johnson-Rosenthal theorem [5, Theorem IV.3] says that, for a separable space $X$,
(1) $c_{0}$ is isomorphic to a quotient of $X$ whenever $X^{*}$ contains a (closed) subspace isomorphic to $l_{1}$,

[^0](2) $C(\Delta)$ is isomorphic to a quotient of $X$ whenever $X^{*}$ contains a subspace isomorphic to $L_{1}$, where $\Delta=\{0,1\}^{\mathbb{N}}$ is the Cantor set.
To quantify the Johnson-Rosenthal theorem, we define a quantity measuring how well a Banach space is isomorphically embedded into another Banach space as follows: let $X, Y$ be Banach spaces. We define
$$
\alpha_{Y}(X)=\sup \left\{\left\|T^{-1}\right\|^{-1}: T: Y \rightarrow X \text { is an isomorphism with }\|T\| \leq 1\right\} .
$$

If there is no isomorphism from $Y$ to $X$, we set $\alpha_{Y}(X)=0$. Obviously, $\alpha_{Y}(X)=1$ if and only if $X$ contains almost-isometric copies of $Y$.

The classical Banach-Mazur distance $d(X, Y)$ between Banach spaces $X$ and $Y$, which measures how well a Banach space is isomorphic to another Banach space, is defined as follows:

$$
d(X, Y)=\inf \left\{\|T\|\left\|T^{-1}\right\|: T: X \rightarrow Y \text { is a surjective isomorphism }\right\}
$$

If $X$ is not isomorphic to $Y$, we set $d(X, Y)=\infty$. It should be mentioned that there are close relationships between quantity $\alpha_{Y}(X)$ and the Banach-Mazur distance $d(X, Y)$. For example, it is easy to see that

$$
\alpha_{Y}(X)=[\inf \{d(Y, M): M \text { is a closed subspace of } X\}]^{-1}
$$

We also define a quantity measuring how well a Banach space is isomorphic to a quotient of another Banach space, as follows. Let $X, Y$ be Banach spaces. We set

$$
\gamma_{Y}(X)=\sup \{\delta(T): T: X \rightarrow Y \text { is a surjective operator with }\|T\| \leq 1\}
$$

where $\delta(T)=\sup \left\{\delta>0: \delta B_{Y} \subseteq T B_{X}\right\}$. If there is no surjective operator from $X$ onto $Y$, we set $\gamma_{Y}(X)=0$. It is easy to see that $\gamma_{Y}(X)=1$ if and only if $Y$ is a $(1+\epsilon)$-(linear) quotient of $X$ for every $\epsilon>0$.

Then, using the above quantities, we quantify the Johnson-Rosenthal theorem as follows.

Theorem 1.1. Let $X$ be a separable Banach space. Then
(a) $\alpha_{l_{1}}\left(X^{*}\right)=\gamma_{c_{0}}(X)$,
(b) $\alpha_{L_{1}}\left(X^{*}\right)=\gamma_{C(\Delta)}(X)=\gamma_{C[0,1]}(X)$.

The Bessaga-Pełczyński theorem [2] states that for a Banach space $X, X^{*}$ contains a subspace isomorphic to $c_{0}$ if and only if $X$ contains a complemented subspace isomorphic to $l_{1}$ if and only if $X^{*}$ contains a subspace isomorphic to $l_{\infty}$. To quantify Bessaga-Pełczyński theorem, we also need a quantity measuring how close a Banach space is to being isomorphic to a complemented subspace of another Banach space.

Let $X, Y$ be Banach spaces. We set

$$
\begin{aligned}
\beta_{Y}(X)= & \sup \left\{(\|A\|\|B\|)^{-1}: A: X \rightarrow Y, B: Y \rightarrow X\right. \\
& \text { are operators such that } \left.A B=I_{Y}\right\} .
\end{aligned}
$$

If there are no such operators $A, B$, then we set $\beta_{Y}(X)=0$. Clearly, $\beta_{Y}(X)=1$ if and only if for every $\epsilon>0$ there exists a subspace $M$ of $X$ so that $M$ is
$(1+\epsilon)$-isomorphic to $Y$ and $M$ is $(1+\epsilon)$-complemented in $X$. That is, $M=B Y$ is complemented in $X$, and $B A: X \rightarrow M$ is the projection.

In this note, we quantify the Bessaga-Pełczyński theorem as follows.
Theorem 1.2. Let $X$ be a Banach space. Then

$$
\left(\alpha_{c_{0}}\left(X^{*}\right)\right)^{2} \leq \beta_{l_{1}}(X) \leq \alpha_{l_{\infty}}\left(X^{*}\right) \leq \alpha_{c_{0}}\left(X^{*}\right)
$$

Throughout this article, an operator will always mean a bounded linear operator. An operator $T: X \rightarrow Y$ is called an isomorphism if it is one-to-one and has closed range. If $X$ is a Banach space, we denote by $B_{X}$ its closed unit ball $\{x \in X:\|x\| \leq 1\}$. Also, $I_{X}: X \rightarrow X$ denotes the identity map. Our notation and terminology are standard, and we refer the readers to [1] and [8] for any unexplained terms.

## 2. Proofs of Theorem 1.1 and Theorem 1.2

Proof of Theorem 1.1. (a) Step 1: $\alpha_{l_{1}}\left(X^{*}\right) \leq \gamma_{c_{0}}(X)$.
Let $0<c<\alpha_{l_{1}}\left(X^{*}\right)$ be arbitrary. Then there exists a sequence $\left(x_{n}^{*}\right)_{n}$ in $X^{*}$ so that

$$
\begin{equation*}
c \sum_{k=1}^{n}\left|a_{k}\right| \leq\left\|\sum_{k=1}^{n} a_{k} x_{k}^{*}\right\| \leq \sum_{k=1}^{n}\left|a_{k}\right| \tag{2.1}
\end{equation*}
$$

for all scalars $a_{1}, a_{2}, \ldots, a_{n}$ and all $n \in \mathbb{N}$. Since $X$ is separable, by passing to subsequences, we may assume that $\left(x_{n}^{*}\right)_{n}$ is $w^{*}$-convergent. We set $f_{n}=x_{2 n-1}^{*}-x_{2 n}^{*}$ $(n \in \mathbb{N})$. According to (2.1), we get

$$
\begin{equation*}
2 c \sum_{k=1}^{n}\left|a_{k}\right| \leq\left\|\sum_{k=1}^{n} a_{k} f_{k}\right\| \leq 2 \sum_{k=1}^{n}\left|a_{k}\right|, \tag{2.2}
\end{equation*}
$$

for all scalars $a_{1}, a_{2}, \ldots, a_{n}$ and all $n \in \mathbb{N}$.
Now let $g_{n}=\frac{f_{n}}{\left\|f_{n}\right\|}(n \in \mathbb{N})$. Then $\left(g_{n}\right)_{n}$ is a $w^{*}$-null sequence in $S_{X^{*}}$. In view of (2.2), we get

$$
\begin{equation*}
c \sum_{k=1}^{n}\left|a_{k}\right| \leq\left\|\sum_{k=1}^{n} a_{k} g_{k}\right\| \leq \sum_{k=1}^{n}\left|a_{k}\right| \tag{2.3}
\end{equation*}
$$

for all scalars $a_{1}, a_{2}, \ldots, a_{n}$ and all $n \in \mathbb{N}$.
Define an operator $T: X \rightarrow c_{0}$ by $T x=\left(\left\langle g_{n}, x\right\rangle\right)_{n}(x \in X)$. Then $T^{*} e_{n}^{*}=g_{n}$ for all $n \in \mathbb{N}$. It follows from (2.3) that $T^{*}$ is an isomorphism, and hence $T$ is surjective. Let $Z=X / \operatorname{ker}(T)$. Define an operator $\widehat{T}: Z \rightarrow c_{0}$ by $\widehat{T}([x])=T x$ for $[x] \in Z$. Then $\widehat{T}$ is a surjective isomorphism. For each $n \in \mathbb{N}$, we choose $z_{n} \in Z$ with $\widehat{T} z_{n}=e_{n}$. Let $\left(z_{n}^{*}\right)_{n}$ denote the functionals biorthogonal to $\left(z_{n}\right)_{n}$. Since $\left(z_{n}\right)_{n}$ is a shrinking basis for $Z,\left(z_{n}^{*}\right)_{n}$ forms a basis for $Z^{*}$. Let $Q: X \rightarrow X / \operatorname{ker}(T)$ be the quotient mapping. It is easy to see that $Q^{*} z_{n}^{*}=g_{n}$ for each $n \in \mathbb{N}$. Since $Q^{*}$ is an isometric embedding, it follows from (2.3) that for all scalars $b_{1}, b_{2}, \ldots, b_{n}$ and all $n \in \mathbb{N}$, we have

$$
\begin{equation*}
c \sum_{k=1}^{n}\left|b_{k}\right| \leq\left\|\sum_{k=1}^{n} b_{k} z_{k}^{*}\right\| \leq \sum_{k=1}^{n}\left|b_{k}\right| . \tag{2.4}
\end{equation*}
$$

We claim that $c B_{c_{0}} \subseteq \widehat{T} B_{Z}$. Let $\left(t_{n}\right)_{n} \in B_{c_{0}}$. Set $z=\sum_{n=1}^{\infty} t_{n} z_{n}$. By the Hahn-Banach theorem, we choose $z^{*} \in S_{Z^{*}}$ with $\left\langle z^{*}, z\right\rangle=\|z\|$. According to (2.4), we get

$$
\begin{aligned}
\|z\| & =\left\langle z^{*}, z\right\rangle=\sum_{n=1}^{\infty} t_{n}\left\langle z^{*}, z_{n}\right\rangle \\
& \leq \sum_{n=1}^{\infty}\left|\left\langle z^{*}, z_{n}\right\rangle\right| \\
& \leq \frac{1}{c}\left\|\sum_{n=1}^{\infty}\left\langle z^{*}, z_{n}\right\rangle z_{n}^{*}\right\| \\
& =\frac{1}{c} .
\end{aligned}
$$

Let $\epsilon>0$. Clearly, $B_{Z} \subseteq(1+\epsilon) Q B_{X}$. By the claim, we get $\frac{c}{1+\epsilon} B_{c_{0}} \subseteq T B_{X}$. Consequently, $\gamma_{c_{0}}(X) \geq \frac{c}{1+\epsilon}$. Letting $\epsilon \rightarrow 0$, we get $\gamma_{c_{0}}(X) \geq c$. Since $c$ is arbitrary, we conclude Step 1.

Step 2: $\gamma_{c_{0}}(X) \leq \alpha_{l_{1}}\left(X^{*}\right)$.
Fix any $0<c<\gamma_{c_{0}}(X)$. Then there is an operator $T: X \rightarrow c_{0}$ so that $\|T\| \leq 1$ and $c B_{c_{0}} \subseteq T B_{X}$. This means that $\left\|T^{*} z\right\| \geq c\|z\|$ for all $z \in l_{1}$. Thus, $\alpha_{l_{1}}\left(X^{*}\right) \geq c$, and we are done.
(b) Step 1: $\alpha_{L_{1}}\left(X^{*}\right) \leq \gamma_{C(\Delta)}(X)$.

Fix any $0<c<\alpha_{L_{1}}\left(X^{*}\right)$. Then there exist a subspace $N$ of $X^{*}$ and an isomorphism $T$ from $N$ onto $L_{1}$ such that

$$
\begin{equation*}
\left\|x^{*}\right\| \leq\left\|T x^{*}\right\| \leq \frac{1}{c}\left\|x^{*}\right\|, \quad x^{*} \in N . \tag{2.5}
\end{equation*}
$$

By the proof of [5, Theorem IV.3], we obtain a sequence $\left(x_{n}^{*}\right)_{n}$ in $N$ such that $\left(T x_{n}^{*}\right)_{n}$ is isometrically equivalent to the Haar basis $\left(h_{n}\right)_{n}$ for $L_{1}$. Moreover, the operator $S: X \rightarrow\left(\overline{\operatorname{span}}\left\{x_{n}^{*}: n \in \mathbb{N}\right\}\right)^{*}$ defined by

$$
\left\langle S x, x^{*}\right\rangle=\left\langle x^{*}, x\right\rangle\left(x \in X, x^{*} \in \overline{\operatorname{span}}\left\{x_{n}^{*}: n \in \mathbb{N}\right\}\right)
$$

satisfies the following properties:
(i) $S X=Z$, where $Z=\overline{\operatorname{span}}\left\{u_{n}: n \in \mathbb{N}\right\}$ and $\left(u_{n}\right)_{n}$ are the functionals biorthogonal to $\left(x_{n}^{*}\right)_{n}$,
(ii) $\overline{S B_{X}}=B_{Z}$.

Let $\left(h_{n}^{*}\right)_{n}$ denote the functionals biorthogonal to $\left(h_{n}\right)_{n}$. It is known that $\left(h_{n}^{*}\right)_{n}$ is 1-equivalent to the Haar basis of $C(\Delta)$. Let $U: \overline{\operatorname{span}}\left\{h_{n}^{*}: n \in \mathbb{N}\right\} \rightarrow C(\Delta)$ be a surjective linear isometry. By (2.5), we have

$$
\begin{equation*}
\left\|\sum_{k=1}^{n} a_{k} x_{k}^{*}\right\| \leq\left\|\sum_{k=1}^{n} a_{k} T x_{k}^{*}\right\|=\left\|\sum_{k=1}^{n} a_{k} h_{k}\right\| \leq \frac{1}{c}\left\|\sum_{k=1}^{n} a_{k} x_{k}^{*}\right\|, \tag{2.6}
\end{equation*}
$$

for all scalars $a_{1}, a_{2}, \ldots, a_{n}$ and all $n \in \mathbb{N}$.

Define an operator $V: \overline{\operatorname{span}}\left\{x_{n}^{*}: n \in \mathbb{N}\right\} \rightarrow L_{1}$ by $V x_{n}^{*}=h_{n}(n \in \mathbb{N})$. Then $V$ is a surjective isomorphism and hence $V^{*} h_{n}^{*}=u_{n}$ for all $n \in \mathbb{N}$. According to (2.6), an easy computation shows

$$
\begin{equation*}
\left\|\sum_{k=1}^{n} a_{k} h_{k}^{*}\right\| \leq\left\|\sum_{k=1}^{n} a_{k} u_{k}\right\| \leq \frac{1}{c}\left\|\sum_{k=1}^{n} a_{k} h_{k}^{*}\right\|, \tag{2.7}
\end{equation*}
$$

for all scalars $a_{1}, a_{2}, \ldots, a_{n}$ and all $n \in \mathbb{N}$.
Define an operator $A: Z \rightarrow \overline{\operatorname{span}}\left\{h_{n}^{*}: n \in \mathbb{N}\right\}$ by $A u_{n}=h_{n}^{*}(n \in \mathbb{N})$. It follows from (2.7) that $c B_{\overline{\operatorname{span}}\left\{h_{n}^{*}: n \in \mathbb{N}\right\}} \subseteq A B_{Z}$. Let $\epsilon>0$. Similarly, by (ii), we get $B_{Z} \subseteq(1+\epsilon) S B_{X}$. Combining this together with the fact that $U$ is a surjective linear isometry, we get $c B_{C(\Delta)} \subseteq(1+\epsilon) U A S B_{X}$. Moreover, combining (ii) and (2.7), we get $\|U A S\| \leq 1$. Thus, we have $\gamma_{C(\Delta)}(X) \geq \frac{c}{1+\epsilon}$. Letting $\epsilon \rightarrow 0$, we get $\gamma_{C(\Delta)}(X) \geq c$. Since $c$ is arbitrary, we finish the proof of Step 1.

Step 2: $\gamma_{C(\Delta)}(X) \leq \gamma_{C[0,1]}(X)$.
Let $0<c<\gamma_{C(\Delta)}(X)$ be arbitrary. Then there exists an operator $T: X \rightarrow$ $C(\Delta)$ with $\|T\| \leq 1$ so that $c B_{C(\Delta)} \subseteq T B_{X}$. By [1, Lemma 4.4.7], there is a continuous surjection $\psi: \Delta \rightarrow[0,1]$ so that we can find a norm 1 operator $R$ : $C(\Delta) \rightarrow C[0,1]$ with $R(f \circ \psi)=f$ for $f \in C[0,1]$. This yields $B_{C[0,1]} \subseteq R B_{C(\Delta)}$. Consequently, $c B_{C[0,1]} \subseteq R T B_{X}$. In view of $\|R\|=1$, we get $\gamma_{C[0,1]}(X) \geq c$. By the arbitrariness of $c$, Step 2 is concluded.

Finally, since $L_{1}$ is linearly isometric to a subspace of $C[0,1]^{*}$, it is easy to verify that $\gamma_{C[0,1]}(X) \leq \alpha_{L_{1}}\left(X^{*}\right)$.
Corollary 2.1. If $c_{0}$ is isomorphic to a quotient of a Banach space $X$, then $c_{0}$ is a $(1+\epsilon)$-quotient of $X$ for every $\epsilon>0$.

Proof. First, we will consider the case where $X$ is a separable Banach space having a quotient isomorphic to $c_{0}$. Then $X^{*}$ contains a subspace isomorphic to $l_{1}$. It follows from James's $l_{1}$-distortion theorem that $\alpha_{l_{1}}\left(X^{*}\right)=1$. According to Theorem 1.1(a), we get $\gamma_{c_{0}}(X)=1$.

For the general case, suppose that the quotient space $X / M$ is isomorphic to $c_{0}$. It follows from the separable case that $\gamma_{c_{0}}(X / M)=1$. Let $\epsilon>0$ be arbitrary. Then there exists an operator $T: X / M \rightarrow c_{0}$ with $\|T\| \leq 1$ so that $(1-\epsilon) B_{c_{0}} \subseteq T B_{X / M}$. Since $B_{X / M} \subseteq(1+\epsilon) Q_{M} B_{X}$, it follows that $(1-\epsilon) B_{c_{0}} \subseteq(1+\epsilon) T Q_{M} B_{X}$, where $Q_{M}: X \rightarrow X / M$ is the natural quotient map. Therefore, $\gamma_{c_{0}}(X) \geq \frac{1-\epsilon}{1+\epsilon}$. Letting $\epsilon \rightarrow 0$, we also get $\gamma_{c_{0}}(X)=1$. The proof is completed.

Combining the main results of [9, Theorem 3.4] and [10, Theorem 1], one can deduce the following corollary (see the proof of [6, Theorem 2.1]). But, this corollary is also an immediate consequence of Theorem 1.1(b).

Corollary 2.2. If $C[0,1]$ (or $C(\Delta)$ ) is isomorphic to a quotient of a Banach space $X$, then $C[0,1]$ (resp., $C(\Delta))$ is a $(1+\epsilon)$-quotient of $X$ for every $\epsilon>0$.
Proof. If $C[0,1]$ is isomorphic to a quotient of a separable Banach space $X$, then $X^{*}$ contains a subspace isomorphic to $L_{1}$. It follows from [3, Theorem 4] that $\alpha_{L_{1}}\left(X^{*}\right)=1$. By Theorem 1.1(b), we get $\gamma_{C[0,1]}(X)=1$. For the general case, the argument is analogous to Corollary 2.1.

Now we need a quantitative version of the Bessaga-Petczyński selection principle. Its proof is identical to the standard gliding hump arguments (see [1]).

Lemma 2.3. Let $\left(x_{n}\right)_{n}$ be a basis for a Banach space $X$, and let $\left(x_{n}^{*}\right)_{n}$ be the sequence of coefficient functionals. If $\left(y_{n}\right)_{n}$ is a seminormalized sequence in $X$ satisfying $\lim _{n \rightarrow \infty}\left\langle x_{k}^{*}, y_{n}\right\rangle=0$ for each $k \in \mathbb{N}$, then, for every $\epsilon>0$, there exist a subsequence $\left(y_{k_{n}}\right)_{n}$ of $\left(y_{n}\right)_{n}$ and a (skipped) block basic sequence $\left(z_{n}\right)_{n}$ with respect to $\left(x_{n}\right)_{n}$ such that

$$
(1-\epsilon)\left\|\sum_{i=1}^{n} a_{i} z_{i}\right\| \leq\left\|\sum_{i=1}^{n} a_{i} y_{k_{i}}\right\| \leq(1+\epsilon)\left\|\sum_{i=1}^{n} a_{i} z_{i}\right\|,
$$

for all scalars $a_{1}, a_{2}, \ldots, a_{n}$ and all $n \in \mathbb{N}$. If every seminormalized (skipped) block basic sequence with respect to $\left(x_{n}\right)_{n}$ is $C$-complemented in $X$ (where the constant $C$ depends only on $X)$, then $\overline{\operatorname{span}}\left\{y_{k_{n}}: n \in \mathbb{N}\right\}$ is $\left(C \cdot \frac{1+\epsilon}{1-\epsilon}\right)$-complemented in $X$.

Proof of Theorem 1.2. We only prove $\left(\alpha_{c_{0}}\left(X^{*}\right)\right)^{2} \leq \beta_{l_{1}}(X)$. Inequalities $\beta_{l_{1}}(X) \leq$ $\alpha_{l_{\infty}}\left(X^{*}\right)$ and $\alpha_{l_{\infty}}\left(X^{*}\right) \leq \alpha_{c_{0}}\left(X^{*}\right)$ are straightforward.

Let $0<c<\alpha_{c_{0}}\left(X^{*}\right)$ be arbitrary. Then there exists an operator $T: c_{0} \rightarrow X^{*}$ with $\|T\| \leq 1$ so that $c\|z\| \leq\|T z\|$ for all $z \in c_{0}$. This yields

$$
\begin{equation*}
c B_{l_{1}} \subseteq T^{*} B_{X^{* *}} \subseteq{\overline{T^{*} B_{X}}}^{w^{*}} \tag{2.8}
\end{equation*}
$$

Let $S$ be the restriction of $T^{*}$ to $X$. Then $S x=\left(\left\langle T e_{n}, x\right\rangle\right)_{n}$ for all $x \in X$.
Let $\epsilon>0$. According to (2.8), we obtain a sequence $\left(x_{n}\right)_{n}$ in $X$ so that $\left\|x_{n}\right\| \leq \frac{1}{c}$ for each $n$ and so that

$$
\begin{equation*}
\left|\left\langle e_{n}^{*}-S x_{n}, e_{k}\right\rangle\right|<\frac{\epsilon}{2^{n}}, \quad k=1,2, \ldots, n ; n=1,2, \ldots \tag{2.9}
\end{equation*}
$$

By (2.9), we get $\lim _{n \rightarrow \infty}\left\langle S x_{n}, e_{k}\right\rangle=0$ for each $k$ and $1-\epsilon \leq\left\|S x_{n}\right\| \leq \frac{1}{c}$ for all $n$.
It follows from Lemma 2.3 that there exist a subsequence $\left(S x_{k_{n}}\right)_{n}$ of $\left(S x_{n}\right)_{n}$ and a block basic sequence $\left(u_{n}\right)_{n}$ of $\left(e_{n}^{*}\right)_{n}$ so that

$$
\begin{equation*}
(1-\epsilon)\left\|\sum_{i=1}^{n} a_{i} u_{i}\right\| \leq\left\|\sum_{i=1}^{n} a_{i} S x_{k_{i}}\right\| \leq(1+\epsilon)\left\|\sum_{i=1}^{n} a_{i} u_{i}\right\| \tag{2.10}
\end{equation*}
$$

for all scalars $a_{1}, a_{2}, \ldots, a_{n}$ and all $n \in \mathbb{N}$. Moreover, $\overline{\operatorname{span}}\left\{S x_{k_{n}}: n \in \mathbb{N}\right\}$ is $\frac{1+\epsilon}{1-\epsilon}$-complemented in $l_{1}$. By (2.10), we have $\frac{1-\epsilon}{1+\epsilon} \leq\left\|u_{n}\right\| \leq \frac{1}{c(1-\epsilon)}$ for each $n$. Since $\left(u_{n}\right)_{n}$ is a block basic sequence of $\left(e_{n}^{*}\right)_{n}$, we get

$$
\begin{equation*}
\frac{1-\epsilon}{1+\epsilon} \sum_{i=1}^{n}\left|a_{i}\right| \leq\left\|\sum_{i=1}^{n} a_{i} u_{i}\right\| \leq \frac{1}{c(1-\epsilon)} \sum_{i=1}^{n}\left|a_{i}\right| \tag{2.11}
\end{equation*}
$$

for all scalars $a_{1}, a_{2}, \ldots, a_{n}$ and all $n \in \mathbb{N}$. Combining (2.10) with (2.11), we get

$$
\begin{equation*}
\frac{(1-\epsilon)^{2}}{1+\epsilon} \sum_{i=1}^{n}\left|a_{i}\right| \leq\left\|\sum_{i=1}^{n} a_{i} S x_{k_{i}}\right\| \leq\left\|\sum_{i=1}^{n} a_{i} x_{k_{i}}\right\| \leq \frac{1}{c} \sum_{i=1}^{n}\left|a_{i}\right|, \tag{2.12}
\end{equation*}
$$

for all scalars $a_{1}, a_{2}, \ldots, a_{n}$ and all $n \in \mathbb{N}$.
Let $M=\overline{\operatorname{span}}\left\{x_{k_{n}}: n \in \mathbb{N}\right\}$. It follows from (2.12) that $\left.S\right|_{M}: M \rightarrow l_{1}$ is an isomorphism with $\left\|\left(\left.S\right|_{M}\right)^{-1}\right\| \leq \frac{1+\epsilon}{c(1-\epsilon)^{2}}$. Let $P$ be a projection from $l_{1}$ onto
$\overline{\operatorname{span}}\left\{S x_{k_{n}}: n \in \mathbb{N}\right\}$ with $\|P\| \leq \frac{1+\epsilon}{1-\epsilon}$. Then $\left(\left.S\right|_{M}\right)^{-1} P S$ is a projection from $X$ onto $M$ with $\left\|\left(\left.S\right|_{M}\right)^{-1} P S\right\| \leq \frac{(1+\epsilon)^{2}}{c(1-\epsilon)^{3}}$. Define an operator $U: M \rightarrow l_{1}$ by $U x_{k_{n}}=e_{n}^{*}(n \in \mathbb{N})$. According to (2.12), $U$ is a surjective isomorphism with $\|U\| \leq \frac{1+\epsilon}{(1-\epsilon)^{2}}$.

Finally, we define operators $A: X \rightarrow l_{1}$ by $A=U\left(\left.S\right|_{M}\right)^{-1} P S$ and $B: l_{1} \rightarrow X$ by $B e_{n}^{*}=x_{k_{n}}(n \in \mathbb{N})$. Then $A B=I_{l_{1}}$ and $\|A\|\|B\| \leq \frac{(1+\epsilon)^{3}}{c^{2}(1-\epsilon)^{5}}$. Thus, we get

$$
\beta_{l_{1}}(X) \geq(\|A\|\|B\|)^{-1} \geq \frac{c^{2}(1-\epsilon)^{5}}{(1+\epsilon)^{3}}
$$

Letting $\epsilon \rightarrow 0$, we get $\beta_{l_{1}}(X) \geq c^{2}$. The proof is completed.
The following corollary is due to Dowling, Randrianantoanina, and Turett [4]. As an immediate application of Theorem 1.2, we give a short proof.

Corollary 2.4 ([4, Theorem 5]). If a Banach space $X$ contains a complemented subspace isomorphic to $l_{1}$, then, for every $\epsilon>0$, there exists a subspace $M$ of $X$ so that $M$ is $(1+\epsilon)$-isomorphic to $l_{1}$ and $M$ is $(1+\epsilon)$-complemented in $X$.

Proof. If $X$ contains a complemented subspace isomorphic to $l_{1}$, it follows from the Bessaga-Pełczyński theorem [2] that $X^{*}$ contains a subspace isomorphic to $c_{0}$. By James's $c_{0}$-distortion theorem, $\alpha_{c_{0}}\left(X^{*}\right)=1$. According to Theorem 1.2, we get $\beta_{l_{1}}(X)=1$. The proof is completed.

Acknowledgments. This work was done during the author's visit to the Department of Mathematics at Texas A\&M University. I would like to thank Professor W. B. Johnson for helpful discussions and comments. The author also thanks the anonymous referees for useful suggestions.

The author's work was partially supported by Natural Science Foundation of Fujian Province of China grant 2015J01026.

## References

1. F. Albiac and N. J. Kalton, Topics in Banach Space Theory, Grad. Texts in Math. 233, Springer, New York, 2006. Zbl 1094.46002. MR2192298. 514, 516, 517
2. C. Bessaga and A. Pełczyński, On bases and unconditional convergence of series in Banach spaces, Studia Math. 17 (1958), 151-164. Zbl 0084.09805. MR0115069. 513, 518
3. P. N. Dowling, N. Randrianantoanina, and B. Turett, Remarks on James's distortion theorems, Bull. Aust. Math. Soc. 57 (1998), no. 1, 49-54. Zbl 0915.46013. MR1623804. DOI 10.1017/S0004972700031403. 516
4. P. N. Dowling, N. Randrianantoanina, and B. Turett, Remarks on James's distortion theorems II, Bull. Austral. Math. Soc. 59 (1999), no. 3, 515-522. Zbl 0947.46016. MR1698052. DOI 10.1017/S0004972700033219. 518
5. W. B. Johnson and H. P. Rosenthal, On w*-basic sequences and their applications to the study of Banach spaces, Studia Math. 43 (1972), 79-92. Zbl 0213.39301. MR0310598. 512, 515
6. W. B. Johnson, J. Lindenstrauss, D. Preiss, and G. Schechtman, Lipschitz quotients from metric trees and from Banach spaces containing $l_{1}$, J. Funct. Anal. 194 (2002), no. 2, 332-346. Zbl 1013.46012. MR1934607. 516
7. M. Kačena, O. F. K. Kalenda, and J. Spurný, Quantitative Dunford-Pettis property, Adv. Math. 234 (2013), 488-527. Zbl 1266.46007. MR3003935. DOI 10.1016/j.aim.2012.10.019. 512
8. J. Lindenstrauss and L. Tzafriri, Classical Banach Spaces, I: Sequence Spaces, Ergeb. Math. Grenzgeb. (3) 92, Springer, Berlin, 1977. Zbl 0362.46013. MR0500056. 514
9. A. Pełczyński, On Banach spaces containing $L_{1}(\mu)$, Studia Math. 30 (1968), 231-246. Zbl 0159.18102. MR0232195. 516
10. A. Pełczyński, On $C(S)$-subspaces of separable Banach spaces, Studia Math. 31 (1968), 513-522. Zbl 0169.15402. MR0234261. 516

School of Mathematical Sciences, Xiamen University, Xiamen, 361005, People's Republic of China.

E-mail address: cdy@xmu.edu.cn


[^0]:    Copyright 2017 by the Tusi Mathematical Research Group.
    Received Oct. 5, 2016; Accepted Jan. 6, 2017.
    First published online Jun. 22, 2017.
    *Corresponding author.
    2010 Mathematics Subject Classification. Primary 46B15; Secondary 46C05.
    Keywords. Johnson-Rosenthal theorem, Bessaga-Pełczyński theorem, quantitative versions, isomorphisms, Banach spaces.

